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	LEARNING OBJECTIVES

1.
State the principle of value to business related to impairment.

2.
Define the meaning of impairment, carrying amount, recoverable amount, net realizable value and value in use.

3.
Identify the events to trigger off an impairment review.

4.
Compute the impairment loss.

5.
Explain the allocation of goodwill for a cash-generating unit.

6.
Explain the allocation of impairment loss for a cash-generating unit.

7.
Explain the accounting treatments for impairment loss for a cash-generating unit and an individual asset.

8.
Explain the disclosure requirements by HKAS 36.
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1.
Definitions
1.1
An enterprise’s assets are normally recorded at the value of transactions at the time when they are acquired. Subsequently, the enterprise may revalue their assets as times goes by to reflect their fair value of the assets as stated in the balance sheet.

1.2
Moreover, it has long been established that if there are permanent decline in the value of assets, i.e. the assets are impaired, the asset’s carrying amount should be written down to their recoverable amount.

1.3
The purpose of HKAS 36 is to ensure that enterprises do not carry assets at a value in excess of their recoverable amount (可收回價值). Also, it gives some specific guidance on when and how to apply the test of impairment.

1.4
The logical thinking and deduction on the concept of impairment is based on the principle of “value to the business” (or deprival value). Value to the business is the lower of an asset’s carrying amount and its recoverable amount.
	1.5
	Definitions

	
	(a)
Impairment (資產減值) is a reduction in the recoverable amount of a fixed asset or goodwill below its carrying amount.
(b)
Carrying amount (帳面價值) is defined in HKAS 36 as the amount at which an asset is recognized in the balance sheet after deducting any accumulated depreciation and accumulated impairment losses thereon (指在資產負債表中確認的、扣除累計折舊（攤銷）和累計減值損失後的資產價值).
(c)
Recoverable amount is the higher of fair value less costs to sell (or net selling price or net realizable value) and its value in use.
(d)
Net realizable value (銷售淨價) or fair value less costs to sell is the amount at which an asset could be disposed of, less any direct selling costs (指在熟悉情況的交易各方之間自願進行的正常交易中，通過銷售資產而取得的、扣除處置費用後的金額).
(e)
Value in use (使用價值) is the present value of the future cash flows obtainable as a result of an asset’s continued use, including those resulting from its ultimate disposal (指預期從資產的持續使用和使用期限結束時的處置中形成的估計未來現金流量的現值).
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1.6
From the above flowchart, it can be known that the carrying amount of the asset should be valued at 60.

	1.7
	Example 1

	
	The carrying amount, net selling price and value in use for four different kinds of assets are shown below:

Asset

A

B

C

D

$000

$000

$000

$000

Carrying amount

100

100

300

300

Net selling price = FV less cost to sell
50

200

150

200

Value in use

200

50

200

150

The value of assets stated in the balance sheet is determined by comparing the asset’s carrying amount and its recoverable amount as follows:

Asset

A

B

C

D

$000

$000

$000

$000

Carrying amount

100

100

300

300

Recoverable amount (higher of net selling price and value in use

200

200

200

200

Value to be stated in balance sheet (lower of carrying amount and recoverable amount)

100

100

200

200

The economic decision in each case is:
Asset A –
Continue to use.

Asset B –
Sell.

Asset C –
Continue to use. (The carrying amount of the asset is written down to its value in use, $200,000.)

Asset D –
Sell. (The carrying amount if the asset is written down to its net selling price of $200,000.)


2.
Identifying Impairment

2.1
An entity should carry out a review of its assets at each balance sheet date, to assess whether there are any indications of impairment to any assets. The concept of materiality applies, and only material impairment needs to be identified.

2.2
If there are indications of possible impairment, the entity is required to make a formal estimate of the recoverable amount of the assets concerned.

	2.3
	External and Internal Sources of Information

	
	(a)
External sources information –

(i)
Significant decline in the asset’s market value more than would be expected as a result of the passage of time or normal use;

(ii)
Significant changes in the technological, market, economic or legal environments;

(iii)
Increases in the market interest rate or other market rate of return on investments, and those increases that are likely to affect the discount rate used in calculating the asset’s value;

(iv)
Decline in the enterprise’s market capitalization.
(b)
Internal sources of information –

(i)
Specific evidence of obsolescence or of physical damage to an asset;

(ii)
Significant internal changes to the organization or its operations so that the expected useful life or utility of the asset has seemingly been reduced; and

(iii)
Evidence from internal reporting indicating that economic performance of the asset is, or will be, worse than expected.


2.4
It is important to stress that the above is a list of events that indicate that an impairment review may be appropriate. The indicators will only trigger off an impairment review if they are relevant to the measurement of the goodwill or fixed assets.

2.5
For example, there are circumstances in which short term interest rates are increased without affecting the required rate of return on long term basis. This may be because the market expectations are that the increase in interest rates will be relatively short-lived. In these circumstances there is no effect on the recoverable amount of such assets and no impairment review would be required.

2.6
Even if there are no indications of impairment, the following assets must always be tested for impairment annually.

(i)
An intangible asset with an indefinite useful life;

(ii)
Goodwill acquired in a business combination.

3.
Computing Impairment Loss

3.1
Cash generating units

3.1.1
When attempting to assess the value in use of an asset, it may be difficult because the asset does not generate income or cash flows on its own but only as part of a larger unit.

3.1.2
The procedure to be adopted in this case is to estimate the recoverable amount of the whole unit, and to recognize an impairment if the value of the whole unit is found to be below its carrying value.

	3.1.3
	Cash Generating Unit (CGU)

	
	A cash-generating unit (現金產出單位) is a group of assets, liabilities and associated goodwill that generates income that is largely independent of the reporting entity’s other income streams. The assets and liabilities include those directly involved in generating the income and an appropriate portion of those used to generate more than one income stream (指從持續使用中產生現金流入的最小的可辨認資產組合，而該資產組合的持續使用很大程度上獨立於其他資產或資產組合).


	3.1.4
	Example 2

	
	A mining company owns a private railway that it uses to transport output from one of its mines. The railway now has no market value other than as scrap, and it is impossible to identify any separate cash inflows with the use of the railway itself. Consequently, if the mining company suspects an impairment in the value of the railway, it should treat the mine as a whole as a cash generating  unit, and measure the recoverable amount of the mine as a whole.


	3.1.5
	Example 3

	
	A bus company has an arrangement with a town’s authorities to run a bus service on four routes in the town. Separately identifiable assets are allocated to each of the bus routes, and cash inflows and outflows can be attributed to each individual route. Three routes are running at a profit and one is running at a loss. The bus company suspects that there is an impairment of assets on the loss-making route. However, the company will be unable to close the loss-making route, because it is under an obligation to operate all four routes, as part of its contract with the local authority. Consequently, the company should treat all four routes together as a cash generating unit, and calculate the recoverable amount for the unit as a whole.


3.2
Steps for computing impairment loss

3.2.1
The following steps should be applied in computing impairment loss:

(a)
Identify individual asset or group of assets;

(b)
Estimate future cash inflows;

(c)
Choose appropriate discount rate (折現率);

(d)
Determine recoverable amount;

(e)
Write down carrying amount to recoverable amount.

(a)
Identify individual asset or group of assets

3.2.2
If cash flows cannot be identified with individual asset, it becomes necessary to group the assets to perform impairment test. The requirement is that grouping of assets, i.e. a cash-generating unit, should be identified for the smallest or the lowest level groups of assets together to generate an identifiable and independent stream of cash flows.

3.2.3
In practice, the groupings may be at departmental level, product line, output of material, labour, overhead, etc. To a certain extent, aggregation process may be necessary when the enterprise’s operation is integrated.

3.2.4
HKAS 36 requires cash-generating units, once have been identified, be applied consistently from period to period for the same asset or types of assets.

(b)
Estimate future cash flows

3.2.5
The estimates of future cash inflows should include:

(i)
projections of cash inflows from continuing use of the asset or group of assets;

(ii)
projections of cash outflows that are necessarily incurred to generate the cash inflows from continuing use of the asset or group of assets; and

(iii)
net cash flows, if any, to be received (or paid) for the disposal of the asset or group of assets at the end of its useful life.

3.2.6
When estimating future cash flows, past experience is very important for projection. In addition, management should consider various factors such as the industry pattern, economic conditions, etc. Non-cash costs such as depreciation, cash flow from financing activities and income tax receipts or payment should not be included in the estimates.

(c)
Choose appropriate discount rate

3.2.7
The discount rate adopted for computing the discounted present value of cash inflows should be a pre-tax rate that reflects current market assessments of the time value of money and the risks specific to the asset or group of assets.

3.2.8
As a starting point, HKAS 36 provides that the enterprise may take into account the following rates:

(i)
the enterprise’s weighted average cost of capital;

(ii)
the enterprise’s incremental borrowing rate; and

(iii)
other market borrowing rates.

(d)
Determine recoverable amount

3.2.9
Determine net selling price – The determination of net selling price appears relatively simple. Net selling price is the amount obtainable from the sale of an asset in an arm’s length transaction between knowledgeable, willing parties, less the cost of disposal.

3.2.10
Determine value in use – Value in use is the present value of estimated future cash flows expected to arise from the continuing use of an asset and from its disposal at the end of its useful life. With the projected cash inflows and the appropriate discount rate, value in use can be computed.

3.2.11
Determine recoverable – Recoverable amount is the higher of an asset’s net selling price and its value in use.

(e)
Write down carrying amount to recoverable amount

3.2.12
An impairment loss is the amount by which the carrying amount of an assets exceeds its recoverable amount. Thus, to recognize the loss, the carrying amount of individual asset or group of assets is written down to its recoverable amount.

	3.2.13
	Example 4

	
	The operations of AB Ltd was divided into two cash-generating units, CGUI and CGUII:

CGUI

CGUII

Cash flows

$000

$000

Year

1

400

1,000

2

300

1,100

3

450

1,300

4

500

1,200

5

600

1,500

The discount rates applied to CGUI and CGUII are 10% and 12% respectively.

The net selling prices of assets in CGUI and CGUII are $2.5 million and $3.5 million respectively.

The carrying amounts of assets in CGUI and CGUII are $2 million and $5 million respectively.

The impairment loss, if any, for CGUI and CGUII is computed as follows:

Year

CGUI – Cash flows

Discount rate

Value in use

CGUII – Cash flows

Discount rate

Value in use

$000

10%

$000

$000

12%

$000

1

400

0.909

363.6

1,000

0.893

893.0

2

300

0.826

247.8

1,100

0.797

876.7

3

450

0.751

338.0

1,300

0.712

925.6

4

500

0.683

341.5

1,200

0.636

763.2

5

600

0.620

372.0

1,500

0.567

850.5

1,662.9

4,309

Net selling price

2,500

3,500

Recoverable amount

1,662.9

4,309

Carrying amount

2,000

5,000

CGUI –
There is no impairment since the recoverable amount is higher than the carrying amount.

CGUII –
Impairment loss was $691,000 ($5,000,000 – $4,309,000), the amount by which the carrying amount exceeds its recoverable amount.


4.
Reversal of Previously Recognised Impairment Loss

4.1
Recoveries of previously impaired assets require recognition where there is any indication that an impairment loss recognized for an asset in prior years may no longer exist or may have decreased. The enterprise should consider, as a minimum, the following indications:

(i)
External sources of information –

(a)
Signification increase in the asset’s market value;

(b)
Signification changes with a favourable effect on the enterprise have taken place, or will take place in the near future, in the technological, market, economic or legal environment in which the enterprise operates;

(c)
Decrease in the market interest rates or other market rates of return on investments;

(ii)
Internal sources of information –

(a)
Significant changes with a favourable effect on the enterprise, e.g. that has been incurred to improve or enhance an asset in excess of its originally assessed standard of performance; and

(b)
Evidence from internal reporting indicating that the economic performance of the asset is, or will be, better than expected.

4.2
Consistent with the treatment for recognition of impairment loss, a reversal of an impairment loss for a cash-generating unit should be allocated to increase the carrying amount of the assets of the unit in the following order:

(i)
to assets other than goodwill on a pro-rata basis based on the carrying amount of each asset in the unit; and

(ii)
to goodwill allocated to the cash-generating unit, provided that the impairment loss was originally caused by a specific external event of an exceptional nature that is not expected to recur, and subsequent external events have occurred that reverse the effect of the original event. Thus, the reversal of goodwill may seem only to arise under very rare situation.

5.
Accounting for Impairment Loss
5.1
Individual asset
	5.1.1
	General Accounting Treatment

	
	If the asset is carried at a revalued amount, the impairment loss should be recognized directly against any revaluation surplus for the asset to the extent that the impairment loss does not exceed the amount held in the revaluation surplus for that same asset, the balance will then be charged to the profit and loss account as an expense.


5.1.2
After the recognition of an impairment loss, the depreciation (amortisation) charge for the asset should be adjusted in future periods to allocate the asset’s revised carrying amount, less its residual value, on a systematic basis over its remaining useful life.

	5.1.3
	Example 5

	
	Cost of machinery purchased at 1.1.2015
$1,000,000

Depreciation method

Straight line over 20 years

Fair value at 31.12.2015
$1,200,000

Recoverable amount at 31.12.2016
$800,000

The journal entries to reflect the depreciation and changes in value of the machinery would be:

Dr ($)

Cr ($)

For 2015
Depreciation ($1,000,000/20)

50,000

Accumulation depreciation

50,000

Being depreciation provided on cost

Dr ($)

Cr ($)

31.12.2015
Machinery

200,000

Accumulation depreciation

50,000

Revaluation reserve

250,000

[$1,200,000 – ($1,000,000 – $50,000)

Being revaluation surplus on the asset recorded.

Dr ($)

Cr ($)

For 2016
Depreciation ($1,200,000/19)

63,158

Accumulation depreciation

63,158

Being depreciation provided on revalued amount of the asset.

Dr ($)

Cr ($)

31.12.2016
P/L – Impairment loss

86,842

{$800,000 – [($1,200,000 – $63,158) – $250,000]}

Revaluation reserve

250,000

Accumulated depreciation

63,158

Machinery

400,000

Being impairment loss on the asset recognized.

Dr ($)

Cr ($)

For 2017
Depreciation ($800,000/18)

44,444

Accumulated depreciation

44,444

Being depreciation provided based on net carrying amount of the asset after deducting impairment loss.




5.2
CGUs

5.2.1
It is not usually possible to identify cash flows relating to particular assets. For example, a factory production line is made up of many individual machines, but the revenues are earned by the production line as a whole. This means that value in use must be calculated and the impairment review performed for groups of assets, rather than individual assets.

	5.2.2
	Example 6

	
	A bus company has an arrangement with a town’s authorities to run a bus service on four routes in the town. Separately identifiable assets are allocated to each of the bus routes, and cash inflows and outflows can be attributed to each individual route. Three routes are running at a profit and one is running at a loss. The bus company suspects that there is an impairment of assets on the loss-making route. However, the company will be unable to close the loss-making route, because it is under an obligation to operate all four routes, as part of its contract with the local authority. Consequently, the company should treat all four routes together as a cash generating unit, and calculate the recoverable amount for the unit as a whole.


(a)
Allocating assets to CGUs

5.2.3
The net assets of the business (including capitalized goodwill, but excluding tax balances and interest-bearing debt) are allocated to CGUs. There are two particular problem areas.

(a)
Corporate assets – assets that are used by several CGUs (e.g. a head office building or a research centre). They do not generate their own cash inflows, so do not themselves qualify as CGUs.

(b)
Goodwill – it does not generate cash flows independently of other assets and often relates to a whole business.

5.2.4
If no reasonable allocation of corporate assets or goodwill is possible, then a group of CGUs must be tested for impairment together in a two-stage process.

	5.2.5
	Example 7

	
	An entity acquires a business comprising three CGUs, D, E and F, but there is no reasonable way of allocating goodwill to them. After three years, the carrying amount and the recoverable amount of the net assets in the cash generating units and the purchased goodwill are as follows:

D
E
F
Goodwill
Total
$000
$000
$000
$000
$000
Carrying amount
240
360
420
150
1,170
Recoverable amount

300

420

360

1,080

Impairment loss

60

90

Step 1: Review the individual units for impairment

F is impaired. A loss of $60,000 is recognized and its carrying amount is reduced to $360,000.

Step 2: Compare the carrying amount of the business as a whole, including goodwill, with its recoverable amount
The total carrying amount of the business is now $1,110,000 ($1,170,000 – $60,000). A further impairment loss of $30,000 must then be recognized in respect of the goodwill ($1,110,000 – $1,080,000).


(b)
Allocation of an impairment to the unit’s assets

5.2.6
If an impairment loss arises in respect of a CGU, it is allocated among the assets in the unit in the following order:

(a)
any individual assets that are obviously impaired, = Example 7 CGU F => $60
(b)
goodwill, => $30 impariment
(c)
other assets on a pro rata basis based on the carrying amount of each asset in the unit.
5.2.7
However, the carrying amount of an asset cannot be reduced below the highest of:

(a)
fair value less costs to sell (if determinable),

(b)
its value in use (if determinable),

(c)
zero.

	5.2.8
	Example 8

	
	ABC has identified an impairment loss of $41m for one of its CGUs. The carrying amount of the unit’s net assets was $150m, whereas the unit’s recoverable amount was only $109m.

The draft values of the net assets of the unit are as follows:

$m
Goodwill
13
Property

20

Machinery

49

Vehicles

35

Patents

14

Net monetary assets

19

150

The net selling price of the unit’s assets were insignificant except for the property, which had a market value of $35m. The net monetary assets will be realized in full.

How is the impairment loss allocated to the assets?

Solution:

Firstly, the goodwill is reduced to zero.

No impairment loss can be set against the property because its net selling price is greater than its carrying amount.

Likewise, no impairment loss can be set against the net monetary assets (receivables, cash, etc.) because they will be realized in full.

The balance of $28m ($41m – $13m) is apportioned between the remaining assets on a pro rata basis [so 
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to machinery, and so on].

The table below shows how the impairment will be allocated.

Draft values
Impairment loss
Impaired value
$m
$m
$m
Goodwill
13
(13)
-
Property

20

-

20

Machinery

49

(14)

35

Vehicles

35

(10)

25

Patents

14

(4)

10

Net monetary assets

19

-

19

150

(41)

109




5.3
Impairment of goodwill with NCI

5.3.1
The revision of IFRS 3 allows two methods of initially valuing the non-controlling interest (NCI) in an entity.

5.3.2
Under full method (or fair value method) of valuing NCI:

(a)
Goodwill shown in the group statement of financial position represents full goodwill, and so together with the rest of the CGU it can be compared to recoverable amount of the CGU on a like with like basis.

(b)
Any impairment of goodwill is therefore allocated between the group and the NCI based upon their respective shareholdings.

	5.3.3
	Example 9 – Impairment of full value goodwill

	
	ABC owns 80% of BBC. At 31 December 2016 the carrying amount of BBC’s net assets is $60 million, excluding goodwill of $8 million that arose on the original acquisition. The NCI is valued using the fair value method.

Calculate the impairment loss if the recoverable amount of BBC is:

(a)
$64 million

(b)
$50 million

Solution:

(a)

Goodwill
Net assets
Total
$m
$m
$m
Carrying amount
8
60
68
Recoverable amount

64

Impairment

(4)

4

The impairment loss relates only to goodwill. This will be charged to income, with the effect that it will be borne by the group and the NCI based upon their respective shareholdings.

(b)

Goodwill
Net assets
Total
$m
$m
$m
Carrying amount
8
60
68
Recoverable amount

50

Impairment

(8)

(10)

18

The impairment loss relates first to goodwill, with the remainder set against other assets on a pro-rata basis, unless there is further information available regarding the recoverable amount of other individual assets. The impairment of $18m is charged to income statement, with the effect that it will be borne by the group and NCI based upon their respective shareholdings.


5.3.4
Under proportion of net assets method of valuing NCI

(a)
Where this method is adopted, the NCI share of goodwill is not reflected in the group accounts.

(b)
Therefore any comparison between the carrying value of a CGU (including goodwill) and its recoverable amount will not be on a like for like basis.

(c)
In order to address this problem, goodwill must be grossed up to include goodwill attributable to the NCI prior to conducting the impairment review.

(d)
This grossed up goodwill is known as “total notional goodwill”.

(e)
Once any impairment loss is determined, it should be allocated firstly to the total notional goodwill and then to the CGU’s assets on a pro rata basis.

(f)
As only the parent’s share of the goodwill is recognized in the group accounts, only the parent’s share of the impairment loss should be recognized.

	5.3.5
	Example 10 – NCI on proportionate basis

	
	ABC owns 80% of BBC. At 31 December 2016 the carrying amount of BBC’s net assets is $60 million, excluding goodwill of $8 million that arose on the original acquisition. The NCI is valued using the proportion of net assets method.

Calculate the impairment loss if the recoverable amount of BBC is:

(a)
$64 million

(b)
$50 million

Solution:

(a)

Goodwill
Net assets
Total
$m
$m
$m
Carrying amount
8
60
68
Recoverable amount (20/80 × $8m)

2

2

Notional adjusted carrying amount

10

60

70

Recoverable amount

64

Impairment loss

6

The impairment loss relates only to goodwill. Only the proportion relating to the recognized goodwill is recognized in the financial statements, so 80% of $6m, i.e. $4.8m.

(b)

Goodwill
Net assets
Total
$m
$m
$m
Carrying amount
8
60
68
Recoverable amount (20/80 × $8m)

2

2

Notional adjusted carrying amount

10

60

70

Recoverable amount

50

Impairment loss

20

The impairment loss is allocated as follows: $8m to recognized goodwill (as before) and the remaining $10m (20 – 10) to other net assets.


6.
Accounting for Reversal of Impairment Loss – Individual Asset

6.1
An impairment loss recognized for an asset in prior years should be reversed if, only if, there has been a change in estimates used to determine the asset’s recoverable amount since the last impairment loss was recognized. If this is the case, the carrying amount of the asset should be increased to its recoverable amount. That increase is a reversal of an impairment loss. The detailed accounting treatment for the reversal is described as follows:

(i)
The increased carrying amount of an asset due to a reversal of an impairment loss should not exceed the carrying amount that would have been determined had no impairment loss been recognized for the asset in prior years.
(ii)
Any increase in the carrying amount of an asset above the carrying amount that would have been determined had no impairment loss been recognized for the asset in prior year is a revaluation.

(iii)
A reversal of an impairment loss for an asset should be recognized as income immediately in the profit and loss account, unless the asset is carried at revalued amount.

(iv)
A reversal of an impairment loss on a revalued asset is credited directly to equity under the heading “revaluation surplus”. However, to the extent that an impairment loss on the same revalued asset was previously recognized as an expense in the profit and loss account, a reversal of that impairment loss is recognized as income in the profit and loss account.

(iv)
After a reversal of an impairment loss is recognized, the depreciation charge for the asset should be adjusted in future periods to allocate the asset’s revised carrying amount, less its residual value, on a systematic basis over its remaining useful life.

	6.2
	Example 11

	
	Following the example 5 in the previous section, assume that the recoverable amount of the machinery at 31 December 2018 was $1,150,000.

In allocating a reversal of an impairment loss, HKAS 36 requires that the carrying amount of an asset should not be increased above the lower of its recoverable amount and the carrying amount that would have been determined (net of amortisation or depreciation) had no impairment loss been recognized for the asset in prior years.

Before making any adjustment for the reversal, the carrying amount of the machinery at 31 December 2018 that would have been determined, had no impairment loss been recognized for the asset in prior years, must firstly be computed.

Carrying amount of the machinery had no impairment loss been recognized

$

Cost at 1.1.2015
1,000,000

Depreciation for 2015
(50,000)

Carrying amount at 31.12.2015
950,000

Revaluation surplus

250,000

Carrying amount at 31.12.2015
1,200,000

Depreciation for 2016 to 2018 ($1,200,000 x 3/19 years)

(189,474)

Carrying amount at 31.12.2018
1,010,526

Carrying amount of the machinery with impairment loss previously been recognized

$

Cost at 1.1.2015
1,000,000

Depreciation for 2015
(50,000)

Carrying amount at 31.12.2015
950,000

Revaluation surplus

250,000

Carrying amount at 31.12.2015
1,200,000

Deprecation for 2016 ($1,200,000/19)

(63,158)

Carrying amount at 31.12.2016
1,136,842

Impairment ($400,000 – $63,158)

(336,842)

Carrying amount

800,000

Depreciation for 2017 and 2018 ($800,000/18 x 2 years)

(88,888)

Carrying amount at 31.12.2008
711,112

In this case, the maximum amount for the reversal that can be reflected in the financial statements for 2018 would be limited to $1,010,526, as it is lower that the asset’s recoverable amount of $1,150,000. Therefore, the reversal of impairment loss for $299,414 ($1,010,526 – $711,112) can be accounted for.

The journal entries to record the reversal of impairment loss would be:

Dr ($)

Cr ($)

31.12.2018
Machinery

299,414

P/L – Reversal of impairment loss

86,842

Revaluation reserve ($299,414 – $86,842)

212,572

Being reversal of impairment loss on the asset recognised




7.
Disclosure Requirement

7.1
The disclosures required by HKAS 36 are very extensive. The more important disclosures include the following:

(i)
The amount of impairment losses recognized in the profit and loss account, and the line item(s) under which they are included, and its disclosure under segment reporting.

(ii)
The amount of reversals of impairment losses recognized in the profit and loss account, and the line item(s) under which they are included, and its disclosure under segment reporting.

(iii)
The amount of impairment losses recognized directly in equity.

(iv)
The amount of reversals of impairment losses recognized directly in equity.

(v)
Notes giving details of the events and circumstances leading to impairment losses or reversals.

Examination Style Questions
Question 1

The carrying amounts of the assets in a cash-generating unit (CGU) of Bond Limited at 31 December 2015 are as follows:
	
	$

	Goodwill
	10,000

	Building

	500,000

	Accumulated depreciation – Building

(depreciated at $35,000 p.a.)
	(200,000)

	Equipment
	300,000

	Accumulated depreciation – Equipment

(depreciated at $28,000 p.a.)
	(100,000)

	
	$510,000


At 31 December 2015, the value in use of the CGU was $460,000 while the fair value less costs to sell of the building was $270,000.
During the year 2016, after taking into account of impairment loss, depreciation charges on building and equipment were $30,000 and $22,000 respectively.  Assume that the recoverable amount of the CGU at 31 December 2016 to be $25,000 greater than the carrying amount of the unit.  As a result, Bond Limited recognized a reversal of the impairment loss.
Required:
(a)
Provide the journal entry to recognize the impairment loss at 31 December 2015.  Show all relevant computations.
(b)
Provide the journal entry to recognize the reversal of impairment of loss of CGU at 31 December 2016.  Show all relevant computations.
(c)
If the recoverable amount of the equipment at 31 December 2016 was $168,000, how would this change the answer to (b) above?
Question 2
Advent is a publicly listed company.

Details of Advent's non-current assets at 1 October 20X8 were:
[image: image4.emf]
The following information is relevant:
(i)
The land and building were revalued on 1 October 20X3 with $80 million attributable to the land and $200 million to the building. At that date the estimated remaining life of the building was 25 years. A further revaluation was not needed until 1 October 20X8 when the land and building were valued at $85 million and $180 million respectively. The remaining estimated life of the building at this date was 20 years.

(ii)
Plant is depreciated at 20% per annum on cost with time apportionment where appropriate. On 1 April 20X9 new plant costing $45 million was acquired. In addition, this plant cost $5 million to install and commission. No plant is more than four years old.

(iii)
The telecommunications licence was bought from the government on 1 October 20X7 and has a 10 year life. It is amortised on a straight line basis. In September 20X9, a review of the sales of the products related to the licence showed them to be very disappointing. As a result of this review the estimated recoverable amount of the licence at 30 September 20X9 was estimated at only $100 million.
There were no disposals of non-current assets during the year to 30 September 20X9.
Required:
(a)
Prepare extracts from the statement of financial position relating to Advent's non-current assets as at 30 September 20X9 (including comparative figures), together with any disclosures (other than those of the accounting policies) under current International Financial Reporting Standards. 
(9 marks)

(b)
Explain the usefulness of the above disclosures to the users of the financial statements.


(4 marks)



(Total = 13 marks)
Question 3 – Impairment

York Marble Limited (YM) has operated a tile manufacturing plant in the city center for more than 15 years. Due to a recent change in government policy on environmental protection and city development, YM was ordered to close the production plant by the end of September 2011 and return the leasehold land to the government early at a consideration based on the market price of land with a similar remaining lease term and location.
As at 31 May 2011, YM had the following assets related to the production plant:
	
	$ million

	Buildings and infrastructure
	23.8

	Production equipment
	48.0

	Electricity generator
	5.2

	Land under operating lease up to 2024
	13.0

	Inventories – Raw materials
	8.4

	Inventories – Finished products
	6.4


According to the original lease term, YM is required to dismantle the buildings and infrastructure before returning the bare land to the government. Previously, the company has recognised a provision for the dismantling to be carried out by the end of the lease term of the land in the cost of these assets. The carrying amount of the provision at 31 May 2011 is $1.5 million. Based on a quotation from a contractor, it costs $3 million for this exercise to be carried out by September 2011.
All production equipment will be relocated to another manufacturing plant of YM 60 km away for continuing usage. The relocation and installation costs are estimated to be $4 million. YM agreed to sell the electricity generator to another company at $4 million. The relocation cost will be borne by the buyer.
Although the final consideration of the leasehold land to be paid by the government has yet to be determined, the government has indicated to YM that the amount would be not less than $35 million.
YM will continue manufacturing until the end of August and it is expected that all the raw materials will be consumed for the production of tiles and sold at a profit. Half of the finished products were made to order with a gross profit of 20% and delivered to customers in early June 2011. The remaining half is obsolete and old model items which could only be sold at 40% of the cost.
Required:

Discuss the accounting treatment under Hong Kong Financial Reporting Standards that should be adopted by YM for each individual asset as at 31 May 2011.
(18 marks)

(HKICPA QP Module A Financial Reporting December 2011 Q3)
Question 4 – Impairment

Winner Sports Limited (WSL) is a sports shoe manufacturer and it sells its products under two different brands, Run Pro and Jog Pro, which were acquired in 2008. Both units have been established for the research and development, design, manufacturing, and marketing the products of individual brands with their own production plant and sales teams. In the past two years, the sales performance for Run Pro has deteriorated significantly due to the keen competition in the market and the lack of new designs and models introduced, while Jog Pro has achieved a double digit growth of sales. The management is considering to re-allocate resources to enhance the profitability of the entity.
The statement of financial position showed the following assets at 30 June 2012:
	
	Run Pro
	Jog Pro
	Total

	
	$’000
	$’000
	$’000

	Brand
	25,000
	5,000
	30,000

	Plant and equipment
	40,000
	25,000
	65,000

	Development cost capitalized
	6,000
	3,000
	9,000

	Inventories
	12,000
	8,000
	20,000

	
	83,000
	41,000
	


Both brands are determined to be of indefinite life. No impairment has been recognised since acquisition.
The above are the only assets that are directly attributable to the brands. Corporate assets are negligible.
For the purpose of preparation of the annual financial statements, the management has carried out the following estimation:
	
	Run Pro
	Jog Pro
	Total

	
	$’000
	$’000
	$’000

	Value in use
	64,000
	60,000
	124,000

	Fair value less cost to sell
	
	
	

	– Unit as a whole
	60,000
	58,000
	118,000

	– Plant and equipment
	36,000
	22,000
	58,000

	– Development cost capitalized
	nil
	nil
	nil


Inventories are excluded from the cash generating unit (CGU) carrying value and the impact has been properly incorporated in determining the value in use. Impact of other working capital is minimal.
The fair value less costs to sell of individual items under plant and equipment are indeterminable.
Inventories are with net realisable value / fair value less costs to sell higher than their carrying amount.
Required:

(a)
Briefly discuss and advise whether WSL is required to conduct asset impairment review at 30 June 2012.
(3 marks)

(b)
“The total of value in use of both brands is higher than their total net assets, there is no impairment issue.” Comment on this statement with reasons.
(5 marks)

(c)
Determine the impairment of assets with detail calculation, if any, to be recognised by WSL at 30 June 2012.
(9 marks)


(HKICPA QP Module A Financial Reporting June 2013 Q3)
Question 5 – HKAS 2 and HKAS 36

Xelon Company Limited (XCL) is a tablet PC accessories manufacturing company which produces the finished goods in accordance with the indicated but not committed order quantities provided by customers on a quarterly basis. The selling price is pre-determined together with the quarterly order sheet.
At 31 October 2013, XCL had 800,000 units of finished goods of a particular model on hand at a weighted average cost per unit of $12. The customer advised XCL on the same date that a new series of tablet PC with a different size would be introduced by Q1 2014 and therefore, it would only take up another 500,000 units of the existing model at $14 per unit before discontinuance of the model (the Final Order).
The manufacture of the tablet PC accessories involves usage of specialised moulds developed internally and cannot be used for other models. For the model mentioned, XCL capitalised the mould production costs of $450,000 and depreciates the cost over the estimated useful life of 18 months commenced from January 2013. Estimated selling price of the moulds as scrap metal is $10,000.
Apart from the finished goods, XCL also has certain raw material purchased for the production of this model and work in progress under production in the warehouse.
Required:

(a)
Discuss the differences between the measurement of net realizable value of inventories and impairment assessment of property, plant and equipment.


(4 marks)

(b)
Advise XCL regarding the impact of the customer's Final Order on the carrying amount of (i) inventories; and (ii) moulds, as at 31 October 2013.
(8 marks)


(HKICPA QP Module A Financial Reporting June 2014 Q2)
Question 6 – HKAS 38 and HKAS 36
Popular Company Limited ("PCL") is developing an innovative system for making a new product for sale. During the first half of the year ended 31 December 2014, the project incurred costs of HK$2 million to carry out research for the evaluation of alternatives of the system to be used. During the second half of the year ended 31 December 2014, the project incurred technicians' salaries of HK$4 million to build up the system. PCL has completed its technical feasibility of the system in June 2014 and it is expected that the system will be ready for use by the end of 2015 and then will be obsolete after 8 years. Once PCL registers this innovative system, the patent granted by the authority will have a legal life of 5 years with a minimal cost to renew for a further 5 years. PCL plans to make the new product by constructing its own production facilities and sell it to the market. It is expected the future economic benefit generated from this innovative system, based on the discounted cash flows projection, will outweigh all the necessary costs and expenditures and there is no indicator of impairment.
Required:
(a)
With reference to the phases of developing the innovative system, advise as to the accounting implication for each of the incurred costs above.
(6 marks)
(b)
Advise PCL about the commencement of the amortisation period and the length of the amortisation period.
(4 marks)
(c)
Based on the information given,
(i)
advise as to whether PCL is required to conduct any impairment assessment as at 31 December 2014; and
(ii)
list out the factors that should be considered in determining the recoverable amount as determined by the discounted cash flows projection if PCL should conduct an impairment assessment.
(6 marks)


(HKICPA QP Module A Financial Reporting December 2015 Q4)
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